Rr(A) =R(A)/0,18 Relative Reflexion
OstwaldFarbe: Rot R, A1=570 ,A,=700 ,\¢=595
Dreiecks-Helligkeit:
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WellenlangeA /nm
egw90-3a, eeh91-la
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XYZ,,=85.53, 90.0, 98.0
A;=25C (@ -a) Y

By =2,5C;Bc(by—byp) Y
8 = ago [(XX)/Y]

by = by [2/M]
80=1,by0=-04 52
Xc=0,110B,= 0,750

Parame-|

n = D65,xyy=0.312 , 0.329
Cap 27[AF+B A2

Name & Spektralbereich 48
R 570_770 ¥, 520_770
Gm 470 570 G, 380_570 X
By 380 520 M, 570_470

6 Optimalfarben (0), Y,,=90, Yy=3,6
6 von maximalem (m)Cjg fiir D65

T-100 max: 490_774

R 570_770 ¥, 520_770
Gm 470_570 G, 380_570
B 380 520 M, 570_470

6 Optimalfarben (0), Y,,=90, Y\=3,6
6 von maximalem (m)Cyg fiir AOO
in Buntwertdiagram (A,, B,)

in Buntwertdiagram (A,, B,) min: 380_490
egw90-2a, eez80-7a
XYZ,,=98.86 , 89.99 , 32.02 By Parame-|
Ay=25C.@-a) Y T 100 ter: Y

! A00, C, = 2:1
B2=25C; B (b~ by) Y YR
8y = a0 [(XX)Y] ’
by =0 [2/Y] T
ay=1,byy=-0,4 71
X =0,110,8, = 2,500 Ar
n'= AQD, xyyy=0.447 , 0.407 4 46 44
Cap 2=[AL+BAY? -46 100
Name & Spektralbereich 18

[-100 max: 495_77(
min: 380_495

egw90-3a, eeh91-7a

egw90-3n




